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8&+%)$-& . 6,.&$&#)$-& )- %)4&2!$-., )+/)."!#!//) ",5)-,<=&1 3&-,-!4!'.  )4*2!/) 1)")>!!

$).3,+!/&! ",$2!-/01 & )30-/01 +,//01.

/?@A$.B$ #?).": 4&-/&%).,; $&$-!#,, $-);%, %)44!%-)", 3&-,-!49, %):??&@&!/- $)3")-

-&.4!/&;, $%)")$-9 3)-)%,, ",$1)+ 8&+%)$-&.

A laboratory-type gating systems are described. Results of theoretical and experimental 

determination of liquid flow rates and head pressures depending on the number of feeders working at 

the same time are give n. A good agreement between the calculated and experimental data has been 

obtained. 

Keywords: gating system, sprue, collector, feeder, resistance coefficient, flow speed, liquid flow rate. 

#$%&& '()* *++)&,-.$%( /&-0&/*1&+2* * 32+4&0*5&%/$)6%- L--'0$7%$8

[1, 2] * 0$7.&/.)&%%$8 [3, 4] )*/%*2-.(& +*+/&5( (9:), 4-2$7$%%(& %$ 0*+. 1 

* 2. ; )*/&<%-5 40-*7.-,+/.& =*0-2- 40*5&%8>/+8 /$2?& 9:, 40&,+/$.)8>-

@*& +-'-< +-&,*%&%*& 3/*A ,.BA +*+/&5 (0*+. 3). CB,&5 %$7(.$/6 /$2*& 9:

2-5'*%*0-.$%%(5*. "$2 .*,%-, . L--'0$7%-< 9: &+/6 /-)62- -/.&/.)&%*8

4-/-2$ *7 2-))&2/-0$ . 4*/$/&)* I–VI, . 0$7.&/.)&%%-< – /-)62- ,&)&%*& 4--

/-2$ . +&1&%*8A 8–8, 9–9, 10–10, . 2-5'*%*0-.$%%-< – ,&)&%*& 4-/-2$ . +&1&-

%** 4–4 * -/.&/.)&%*8 4-/-2$ . 4*/$/&)* I–VI. ; )$'-0$/-0%(A B+)-.*8A 3/*

+*+/&5( +-'*0$>/+8 *7 %$'-0$ +/$%,$0/%(A 3)&5&%/-. [5]. "$?,$8 +*+/&5$

+-+/-*/ *7 )*/%*2-.-< 1$=*, +/-82$, 2-))&2/-0$ * 4 (0*+. 2) *)* 6 (0*+. 1 * 3) 

-,*%$2-.(A 4*/$/&)&< I–VI. ;%B/0&%%*< ,*$5&/0 )*/%*2-.-< 1$=* 0$.&%

0,272 5, .(+-/$ .-,( . 1$=& – 0,1005 5. D0-,-)6%(& -+* 2-))&2/-0$ * 4*/$-

/&)&< %$A-,8/+8 . -,%-< E-0*7-%/$)6%-< 4)-+2-+/*.  0-.&%6 ?*,2-+/* H – 

0$++/-8%*& 4- .&0/*2$)* -/ +&1&%*8 1–1 . )*/%*2-.-< 1$=& ,- 40-,-)6%(A
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-+&< 2-))&2/-0$ * 4*/$/&)&< – 4-,,&0?*.$)+8 4-+/-8%%(5 4B/&5 %&40&0(.-

%-E- ,-)*.$%*8 .-,( . 1$=B * +)*.$%*8 && *7)*=2-. 1&0&7 +4&F*$)6%B>

@&)6 . 1$=&: 0,3600H = 5. G*,2-+/6 .()*.$)$+6 +.&0AB *7 4*/$/&)&<

. H-05B. ; +&1&%*8A 2-))&2/-0$ 5–5, …, 12–12 '()* B+/$%-.)&%( ,)8 *75&-

0&%*8 %$4-0$ 46&7-5&/0( – +/&2)8%%(& /0B'-12* ,)*%-< 370 55 * .%B/0&%-

%*5 ,*$5&/0-5 4,5 55. ; +&1&%*8A +/-82$ 2–2, 3–3 * 4–4 '()* /$2?& 0$75&-

@&%( *7-E%B/(& %$ 90° 46&7-5&/0( (%$ 0*+B%2& %& 4-2$7$%(). ;0&58 *+/&1&-

%*8 ?*,2-+/* *7 2$?,-E- 4*/$/&)8 +-+/$.)8)- 60–180 + – . 7$.*+*5-+/* -/

2-)*1&+/.$ -,%-.0&5&%%- 0$'-/$>@*A 4*/$/&)&<, $ .&+ .()*.=&<+8 *7 4*/$-

/&)8 .-,( – -2-)- 9 2E. I/* .0&5&%%(& * .&+-.(& -E0$%*1&%*8 -'&+4&1*)*

-/2)-%&%*& -/ +0&,%&E- 7%$1&%*8 +2-0-+/* 005,0± 5/+, %& '-)&&. #$+A-,

?*,2-+/* *7 2$?,-E- 4*/$/&)8 -40&,&)8)+8 8 * '-)&& 0$7.

#*+. 1. L--'0$7%$8 )*/%*2-.$8 +*+/&5$

!)8 2$?,-< *7 40*.&,&%%(A 9: B0$.%&%*& C&0%B))* ( C), %$40*5&0,

,)8 +&1&%*< 1–1 * 17–17 %$ 0*+. 1 (+1*/$&5, 1/- 0$'-/$&/ /-)62- 4*/$/&)6 VI), 

.(E)8,*/ /$2:

22
(1)17 171 1
1 17

2 2

p vp v
H h

g g
−+ α + = + α +

γ γ
,  (1) 

E,& 1 * 17  – ,$.)&%*8 . +&1&%*8A 1–1 * 17–17, J/52 (0$.%( $/5-+H&0%-5B

,$.)&%*>: 1 17 $   = = ); α  – 2-3HH*F*&%/ %&0$.%-5&0%-+/* 0$+40&,&)&%*8

+2-0-+/* 4- +&1&%*> 4-/-2$ (2-3HH*F*&%/ "-0*-)*+$), 40*%*5$&5 1,1α =
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[6, +. 108]; g  – B+2-0&%*& +.-'-,%-E- 4$,&%*8, 9,81g = 5/+2; 1v * 17v  – +2-0--

+/* 5&/$))$ . +&1&%*8A 1–1 * 17–17, 5/+ (.+)&,+/.*& '-)6=-< 0$7%-+/* 4)--

@$,&< 1$=* 1S . +&1&%** 1–1 * 4*/$/&)8 4S . +&1&%** 17–17 5-?%- 40*%8/6

1 0)v = ; γ  – B,&)6%(< .&+ ?*,2-+/*, J/53; (1)

1 17(17)h −  – 4-/&0* %$4-0$ 40* ,.*-

?&%** 5&/$))$ -/ +&1&%*8 1–1 ,- +&1&%*8 17–17 (. +)B1$& 0$'-/( /-)62- -,-

%-E- 4*/$/&)8 VI), 5. I/* 4-/&0* %$4-0$

2 22 2
(1) +/ 3 0 172 2 4
1 17(17) +/ 2 4

3 2 4

5

2 2 2 2

l v l l vv v l
h

g d g d g d g
−

 !  !+
= ζ α + λ α + ζ + λ α + ζ + λ α" # " #

$ % $ %
,  (2) 

E,& +/ζ , 2ζ * 4ζ  – 2-3HH*F*&%/( 5&+/%(A +-40-/*.)&%*< .A-,$ 5&/$))$ *7

1$=* . +/-82, 4-.-0-/$ *7 +/-82$ . 2-))&2/-0 * 4-.-0-/$ *7 2-))&2/-0$ . 4*-

/$/&)6 VI; 2v , 3v * 2v  – +2-0-+/* ?*,2-+/* . +&1&%*8A 2–2, 3–3 +/-82$

* . 2-))&2/-0&, 5/+; +/l  – ,)*%$ +/-82$, 5; 3 ,d 2d * 4d  – E*,0$.)*1&+2*& ,*$-

5&/0( +/-82$ . +&1&%** 3–3, 2-))&2/-0$ * 4*/$/&)8 VI, 5; λ  – 2-3HH*F*&%/

4-/&06 %$ /0&%*&; l  – 0$++/-8%*& 5&?,B 4*/$/&)85*, 5; 0l  – 0$++/-8%*& -/

+/-82$ ,- 4&0.-E- 4*/$/&)8, 5; 4l  – ,)*%$ 4*/$/&)8, 5. #$+A-, . )*/%*2-.-<

+*+/&5& 40* +)*.& +.&0AB -40&,&)8&/+8 +2-0-+/6> 5&/$))$ 17v . .(A-,%-5

+&1&%** 17–17 4*/$/&)8 VI * 4)-@$,6> &E- 4-4&0&1%-E- +&1&%*8 4S :

17 17 4 .Q v S=  (3) 

K+/$)6%(& +2-0-+/* ?*,2-+/* . 2$%$)$A 9: -40&,&)8&5 *7 B0$.%&%*8

%&0$70(.%-+/* 4-/-2$:

17 +/ +/ 2 2 3 3 4 4 2 2 17 4Q Q v S v S v S v S v S v S= = = = = = = ,  (4) 

E,& 2S , 3S , 4S , 2S  – 4)-@$,* +/-82$ . +&1&%*8A 2–2, 3–3, 4–4 * 2-))&2/-0$,

52. ;(0$7*5 .+& +2-0-+/* 5&/$))$ . H-05B)& (2) 1&0&7 +2-0-+/6 17v , *+4-)6-

7B8 B0$.%&%*& %&0$70(.%-+/* 4-/-2$ (4): 

2 2
2

(1) 17 +/ 04 4 4
1 17(17) +/ 2 4

+/ +/ 2 2 4

5

2

v l l lS S l
h

g d S d S d
−

& ' ! !  ! !+
( )= α ζ + λ + ζ + λ + ζ + λ" #" # " #" #
( )$ %$ %$ %$ %* +

.

;(0$?&%*& . 2.$,0$/%(A +2-'2$A -'-7%$1*5 2$2 (1)

1 17(17)−ζ  – 3/- 2-3HH*-

F*&%/ +-40-/*.)&%*8 +*+/&5( -/ +&1&%*8 1–1 ,- +&1&%*8 17–17, 40*.&,&%%(<

2 +2-0-+/* ?*,2-+/* . +&1&%** 17–17:

2 2

(1) +/ 04 4 4
1 17(17) +/ 2 4

+/ +/ 2 2 4

5l l lS S l

d S d S d
−

 ! !  ! !+
ζ = ζ + λ + ζ + λ + ζ + λ" #" # " #" #

$ %$ %$ %$ %
.  (5) 
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#*+. 2. #$7.&/.)&%%$8 )*/%*2-.$8 +*+/&5$

L-E,$ .(0$?&%*& (1) 5-?%- 7$4*+$/6 /$2:

2 (1)

17 1 17(17)(1 ) / 2H v g−= α + ζ .   

M 2-3HH*F*&%/ 0$+A-,$ +*+/&5( -/ +&1&%*8 1–1 ,- +&1&%*8 17–17, 40*-

.&,&%%(< 2 +2-0-+/* 17v ,

( )
1/2

(1) (1)

1 17(17) 1 17(17)1
−

− −µ = + ζ .  (6) 

:2-0-+/6

(1)

17 1 17(17) 2 /v gH−= µ α .  (7) 

#$+A-, Q %$A-,*5 4- .(0$?&%*> (3). !)8 ,$%%-< 9: ,)*%$ +/-82$

+/ 0,2675l = 5, ,)*%$ 2$?,-E- 4*/$/&)8 4 0,0495l = 5, 0$++/-8%*& 5&?,B 4*/$-

/&)85* 0,1190l = 5, 0$++/-8%*& -/ +/-82$ ,- 4&0.-E- 4*/$/&)8 0 0,1220l = 5.
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!*$5&/0( +/-82$, 2-))&2/-0$ * 4*/$/&)&< (55): +/ 2 3 4 24,08,d d d d= = = =

2 5 11... 16,03,d d d= = = = 4 9,03.d = D0*%*5$&5, 2$2 * . 0$'-/& [7], 1/- 2-3H-

H*F*&%/ 4-/&06 %$ /0&%*& 0,03.λ = "-3HH*F*&%/ 5&+/%-E- +-40-/*.)&%*8

.A-,$ *7 1$=* . +/-82 . 7$.*+*5-+/* -/ +20BE)&%*8 .A-,%-< 20-52* -40&,&)8-

&5 4- +40$.-1%*2B [8, +. 103]: +/ 0,10.ζ = D- ,$%%(5 0$'-/( [9], 2 0,397,ζ =

4 0,347.ζ = #&7B)6/$/( 0$+1&/-. 4- +--/%-=&%*85 (5), (6), (7) * (3): 

(1)

1 17(17) 0,695,−ζ = (1)

1 17(17) 0,768,−µ = 17 1,946v = 5/+, 6

17 124,64 10Q Q −= = ⋅ 53/+.

!)8 2-5'*%*0-.$%%-< 9: (0*+. 3) 40* 0$'-/&, %$40*5&0, 4*/$/&)8 III, 

2-3HH*F*&%/ +-40-/*.)&%*8 +*+/&5( -/ +&1&%*8 1–1 ,- +&1&%*8 15–15, 40*-

.&,&%%(< 2 +2-0-+/* 5&/$))$ . +&1&%** 15–15, 'B,&/ .(E)8,&/6 /$2:

#*+. 3. "-5'*%*0-.$%%$8 )*/%*2-.$8 +*+/&5$

2 2

2(1) +/ 04 4 4
1 15(15) +/ 2 4

+/ +/ 2 2 4

2l l lS S l

d S d S d
−

 ! !  ! !+
ζ = ζ + λ + ζ + λ + ζ + λ" #" # " #" #

$ %$ %$ %$ %
.  (8) 

#&7B)6/$/( 0$+1&/-. 4- .(0$?&%*85 (8), (6), (7) * (3): 2(1)

1 15(15) 0,628−ζ = ,

( )
2(1)

1 15 15
0,784

−
µ = , 987,115 =v 5/+,

6

15 1023,127 −⋅== QQ 53/+. "$2 .*,%-, 4*/$-

/&)6 III (0*+. 3) %$A-,*/+8 ')*?& 2 +/-82B, 1&5 4*/$/&)6 VI (0*+. 1), 4-3/-5B

B %&E- 5&%6=& 4-/&0* %$4-0$ %$ /0&%*& 4- ,)*%&, '-)6=& +2-0-+/6 * 0$+A-,



90

?*,2-+/*. :)&,B&/ *5&/6 . .*,B, 1/- 3/- -,*% * /-/ ?& 4*/$/&)6 * *+2)>1&%-

.)*8%*& 4-E0&=%-+/&< 5&A$%*1&+2-< -'0$'-/2* %$ 0$75&0( -/.&0+/*< . 4*-

/$/&)&.

N/-'( %$</* 0$+A-, . +*+/&5& 40* 0$'-/& ,.BA * '-)&& 4*/$/&)&<, 'B-

,&5 +-+/$.)8/6 ,)8 2$?,-E- 4*/$/&)8  C 4- /*4B (1). ; +)B1$& 0$'-/( 4*/$-

/&)&< V * VI (+5. 0*+. 1) *5&&5 ,)8 +&1&%*< 1–1 * 17–17
2 (2)

17 1 17(17)(1 ) / 2H v g−= α + ζ , ,)8 +&1&%*< 1–1 * 16–16 2 (2)

16 1 16(16)(1 ) / 2H v g−= α + ζ ,

E,& (2)

1 17(17)−ζ  – 2-3HH*F*&%/ +-40-/*.)&%*8 +*+/&5( -/ +&1&%*8 1–1 ,- +&1&%*8

17–17, 40*.&,&%%(< 2 +2-0-+/* 5&/$))$ . +&1&%** 17–17 * B1*/(.$>@*< 0$-

'-/B ,.BA 4*/$/&)&< (V * VI); (2)

1 16(16)−ζ  – 2-3HH*F*&%/ +-40-/*.)&%*8 +*+/&5(

-/ +&1&%*8 1–1 ,- +&1&%*8 16–16, 40*.&,&%%(< 2 +2-0-+/* ?*,2-+/* . +&1&-

%** 16–16 (40* -,%-.0&5&%%-< 0$'-/& 4*/$/&)&< V * VI). K,%$2- 4-/&0* %$-

4-0$ -/ +&1&%*8 1–1 ,- +&1&%*8 9–9 'B,B/ -,*%$2-.(5* ,)8 -'-*A 4*/$/&)&<.

D-3/-5B 7$4*=&5  C /-)62- ,)8 +&1&%*< 9–9 * 17–17:

2 2 2

9 9 10 17 174
10 4

2 4

1
2 2 2

p v v v pll

g d g d g

 !  !
+ α = ζ + λ α + ζ + λ + α +" # " #

γ γ$ % $ %
,  (9) 

* ,)8 +&1&%*< 9–9 * 16–16:

2 2

9 9 16 164
16

4

1
2 2

p v v pl

g d g

 !
+ α = ζ + λ + α +" #

γ γ$ %
,  (10) 

E,& 9 , 16  – ,$.)&%*8 . +&1&%*8A 9–9 * 16–16 (,$.)&%*& 16 0$.%- $/5--

+H&0%-5B $ ), J/52; 9v , 10v , 16v  – +2-0-+/* 5&/$))$ . +&1&%*8A 9–9, 10–10

* 16–16, 5/+; 10ζ  – 2-3HH*F*&%/ +-40-/*.)&%*8 %$ 40-A-, ?*,2-+/* -/ +&1&-

%*8 9–9 ,- +&1&%*8 10–10 40* -/.&/.)&%** 1$+/* 4-/-2$ . 4*/$/&)6 V; 15ζ  – 

2-3HH*F*&%/ +-40-/*.)&%*8 %$ -/.&/.)&%*& 4-/-2$ . 4*/$/&)6 V + .(A-,%(5

+&1&%*&5 16–16. #&=$8 (9) * (10) +-.5&+/%- * 7$5&%88 10v %$ 17 4 2/v S S , *5&&5:

( )
2

10 2 4 2 4 4 4

16 17

16 4 4

( / ) / / 1

/ 1

l d S S l d
v v

l d

ζ + λ + ζ + λ +
=

ζ + λ +
.

D-,+/$.)88 *7.&+/%(& .&)*1*%(, 4-)B1$&5:

10
16 17

15

0,100697 1,533878

1,164452
v v

ζ +
=

ζ +
.
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; 3/-5 .(0$?&%** %&*7.&+/%( 2-3HH*F*&%/( 10ζ * 15ζ , 7$.*+8@*& -/ -/-

%-=&%*8 +2-0-+/&< 5&/$))$ . 2-))&2/-0& * 4*/$/&)& V. "-3HH*F*&%/( +-40--

/*.)&%*<, -'B+)-.)&%%(A -/,&)&%*&5 4-/-2$ *7 2-))&2/-0$ . 4*/$/&)6, 'B,&5

4-,+1*/(.$/6 4- H-05B)$5 ,)8 /0-<%*2-. [10, +. 112–115]. "-3HH*F*&%/ +-40--

/*.)&%*8 %$ 40-A-, . 2-))&2/-0& 40* -/.&/.)&%** 1$+/* 4-/-2$ . 4*/$/&)6

( ) ( )
2 2

40 40 2 40 20,4 1 / / /v v v vζ = − ,  (11) 

$ 2-3HH*F*&%/ +-40-/*.)&%*8 %$ -/.&/.)&%*& 1$+/* 4-/-2$ . 4*/$/&)6

( ) ( )
2 2

-/. 4 2 4 21 / / /v v v v& 'ζ = + τ
* +

,  (12) 

E,& 2v * 4pv  – +2-0-+/* 5&/$))$ . 2-))&2/-0& ,- * 4-+)& -/.&/.)&%*8 1$+/* 4--

/-2$ . 4*/$/&)6, 5/+; 4v  – +2-0-+/6 ?*,2-+/* . 4*/$/&)&, 5/+; τ  – 2-3HH*F*&%/,

0,15τ = ,)8 -/%-=&%*8 4 2/ 0,317S S = . "-3HH*F*&%/ 40ζ 4-)B1$&/+8 40*.&-

,&%%(5 2 +2-0-+/* 40-A-,8@&E- 4-/-2$ 40v , $ -/.ζ  – 2 +2-0-+/* . 4*/$/&)& 4v .

 0$.%&%*& %&0$70(.%-+/* 4-/-2$ ,)8 0$'-/( ,.BA 4*/$/&)&< 40*5&/ .*,:

+/ +/ 9 2 10 2 16 4 17 4 16 4 17 16 4( )Q v S v S v S v S v S v S v v S= = = + = + = + .  (13) 

!-4B+/*5, 1/- +2-0-+/6 . 4*/$/&)& V 0$.%$ x +2-0-+/* . 4*/$/&)& VI: 

16 17v xv= . L-E,$ *7 .(0$?&%*8 (13) 4-)B1*5:

9 2 17 4(1 )Q v S v x S= = + .  (14) 

J$7-.&5 .&)*1*%B 4(1 )x S+ 40*.&,&%%-< (2 +2-0-+/* 17v ) 4)-@$,6>

4*/$/&)&< (2)

40(17)S  – ,)8 ,.BA 0$'-/$>@*A 4*/$/&)&<. #$+A-, . +*+/&5&

(2)

17 40(17)Q v S= .  (15) 

O$,$.$8+6 (40-*7.-)6%-) .&)*1*%-< x * *+4-)67B8 7$.*+*5-+/* (11) 

* (12) * ,$%%(& +/$/6* [1], 4-)B1$&5 4-+)& 08,$ 4-+)&,-.$/&)6%(A 40*')*-

?&%*<, 1/- 16 17/ 0,950368.x v v= = D0* 3/-5 2-3HH*F*&%/ +-40-/*.)&%*8 %$

40-A-, ?*,2-+/* . 2-))&2/-0& *7 +&1&%*8 9–9 . +&1&%*& 10–10 40* -/.&/.)&-

%** 1$+/* 4-/-2$ . 4*/$/&)6 V 10 0,361280,ζ = 2-3HH*F*&%/ +-40-/*.)&%*8

%$ -/.&/.)&%*& 1$+/* 4-/-2$ . 4*/$/&)6 V 16 0,574098ζ = , 10 9/ 0,512724v v = ,

16 9/ 1,535560.v v = K20BE)8&5 x ,- 0,950 * 4-)B1$&5, 1/- 40*.&,&%%$8 4)--

@$,6 4*/$/&)&< (2)

40(17) 41,950S S= . L-E,$ 2-3HH*F*&%/ +-40-/*.)&%*8 9: -/

+&1&%*8 1–1 ,- +&1&%*8 17–17, 40*.&,&%%(< 2 +2-0-+/* 5&/$))$ . +&1&%**

17–17 (B1*/(.$&/, 0$7B5&&/+8, 0$'-/B -'-*A 4*/$/&)&<),



92

2 2
(2) (2)

40(17) 40(17)(2) +/ 0
1 17(17) +/ 2

+/ +/ 2 2

2

4 4
10 4

2 2 4

4

.

S Sl l l

d S d S

S ll

d S d

−

 !  ! !  !+
ζ = ζ + λ + ζ + λ +" # " #" # " #" # " #

$ %$ %$ % $ %

 ! !
+ ζ + λ + ζ + λ" #" #
$ %$ %

M (2)

1 17(17)−µ , 17v , 17Q * Q -40&,&)8&5 4- +--/%-=&%*85 (6), (7), (3) * (14).

D-+/B4$8 $%$)-E*1%(5 -'0$7-5, -40&,&)8&5 0$+A-, ?*,2-+/* . 9: 40*

-,%-.0&5&%%-< 0$'-/& /0&A, 1&/(0&A, 48/* * =&+/* 4*/$/&)&< (*5&&/+8 . .*-

,B 9: %$ 0*+. 1). D-+)& +--/.&/+/.B>@*A 0$+1&/-. 4-)B1*)*: 16 170,950v v= ,

15 170,830v v= , 14 170,705v v= , 13 170,604v v= , 12 170,544v v= , 10 9/ 0,513v v = ,

9 8/ 0,702v v = , 8 7/ 0,798v v = , 7 6/ 0,852v v = , 6 5/ 0,883v v = , 10 0,361ζ = ,

9 0,072ζ = , 8 0,026ζ = , 7 0,012ζ = , 6 0,007ζ = , 17 4 0,347ζ = ζ =  (,$%%(& 32+-

4&0*5&%/$), 16 0,574ζ = , 15 1,280ζ = , 14 2,610ζ = , 13 4,763ζ = , 12 7,456ζ = .

K/5&/*5 .4&1$/)8>@*< .*, 7$.*+*5-+/* ,)8 -40&,&)&%*8 2-3HH*F*&%/$

+-40-/*.)&%*8 +*+/&5( *7 =&+/* 4*/$/&)&< -/ +&1&%*8 1–1 ,- +&1&%*8 17–17

(40*.&,&% 2 +2-0-+/* 17v ):

2
(6) (6)

40(17) 40(17)(6) +/ 0
1 17(17) +/ 2

+/ +/ 2 2

2 2
(5) (4)

40(17) 40(17)

6 7

2 2 2 2

2
(3)

40(17)

8 9

2 2

S Sl l

d S d S

S Sl l

d S d S

Sl l

d S

−

 !  ! !  !
ζ = ζ + λ + ζ + λ +" # " #" # " #" # " #$ %$ %$ % $ %

 !  ! !  !
+ ζ + λ + ζ + λ +" # " #" # " #" # " #$ % $ %$ % $ %

 ! !
+ ζ + λ + ζ + λ" #" #" #$ %$ %

2
(2)

40(17)

2 2

2

4 4
10 4

2 2 4

.

S

d S

S ll

d S d

 ! !
+" #" #" #$ %$ %

 ! !
+ ζ + λ + ζ + λ" #" #
$ %$ %

#$+1&/%(& * 32+4&0*5&%/$)6%(& (. 7%$5&%$/&)&) ,$%%(& +.&,&%(

. /$'). 1. "$2 .*,%-, + B.&)*1&%*&5 2-)*1&+/.$ 4*/$/&)&< (* +B55$0%-< *A

4)-@$,*) . 6 0$7 0$+A-, . +*+/&5& +/$) '-)6=& /-)62- . 2,98 0$7$. I/- -'P8+-

%8&/+8 0-+/-5 E*,0$.)*1&+2-E- +-40-/*.)&%*8 +*+/&5( – 1 17(17)−ζ B.&)*1*)+8

. 4,44 0$7$. M +2-0-+/6 ?*,2-+/* 17v . 4*/$/&)& VI B5&%6=*)$+6 + 1,946 ,-

1,254 5/+, . 1,55 0$7$, 40* B.&)*1&%** 2-)*1&+/.$ -,%-.0&5&%%- 0$'-/$>@*A

4*/$/&)&< + 1 ,- 6. L&-0&/*1&+2*& 7%$1&%*8 +2-0-+/* 17v '-)6=& 32+4&0*5&%-
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/$)6%(A %$ 0,30–2,50 %. K/)*1*& -4(/%(A .&)*1*% 0$+A-,-. -/ 0$+1&/%(A

.$06*0B&/+8 -/ (–1,40) ,- (+1,30) %. D0*.&,&%%$8 4)-@$,6 4*/$/&)&< 40* 0$-

'-/& 6 4*/$/&)&< 40(6) 44,633S S= , $ *A +B55$0%$8 4)-@$,6 4 46S SΣ = .

L$')*F$ 1 

 !"#$%&'$ ( )*"+$,(-$&%!./&'$ 0!,!*%$,("%(*(

L-12,!3&14 .(%&(*1514 "("%$-'

#$'-/$>@*&

4*/$/&)*
1 17(17)−ζ 1 17(17)−µ 40(17)S 17v , 5/+ 610Q ⋅ , 53/+

VI  0,695  0,768 4S 1,946 /1,940 124,64 /125, 27

V, VI  1,184  0,677 41,950S 1,715 /1,691 214,19 / 211,38

IV–VI  1,756  0,602 42,780S 1,526 /1, 497 271,76 / 270, 40

III–VI  2,290  0,551 43,485S 1,397 /1,370 311,80 / 311,64

II–VI  2,735  0,517 44,089S 1,311/1, 279 343,38 / 346, 48

I–VI  3,086  0,495 44,633S 1,254 /1,241 371,96 / 377,33

N/-'( %$</* 0$+A-, . 2-5'*%*0-.$%%-< 9: 40* 0$'-/& 4*/$/&)&< III 

* VI, 7$4*=&5  C ,)8 +&1&%*< 1–1 * 15–15:

2 2 2
,(1 1)+/ +/ 0 5 154

+/ 4 5(5) 4

+/ 2 4

2
1

2 2 2

l v l l v vl
H

d g d g d g

+
−

 !  !  !+
= ζ + λ α + ζ + λ α + ζ + λ + α" # " # " #

$ % $ %$ %
,  (16) 

* ,)8 1–1 * 18–18:

2 2 2
,(1 1)+/ +/ 0 9 184

+/ 4 9(9) 4

+/ 2 4

2
1

2 2 2

l v l l v vl
H

d g d g d g

+
−

 !  !  !+
= ζ + λ α + ζ + λ α + ζ + λ + α" # " # " #

$ % $ %$ %
,  (17) 

E,& ,(1 1)

4 5(5)

+
−ζ  – 2-3HH*F*&%/ +-40-/*.)&%*8 %$ ,&)&%*& 4-/-2$ . +/-82& 5&?,B

+&1&%*85* 4–4 * 5–5, 40*.&,&%%(< 2 +2-0-+/* 5&/$))$ . +&1&%** 5–5; ,(1 1)

4 9(9)

+
−ζ  – 

2-3HH*F*&%/ +-40-/*.)&%*8 %$ ,&)&%*& 4-/-2$ . +/-82& 5&?,B +&1&%*85* 4–4

* 9–9, 40*.&,&%%(< 2 +2-0-+/* ?*,2-+/* . +&1&%** 9–9. I/* 2-3HH*F*&%/(

-40&,&)8&5 4- +)&,B>@&5B .(0$?&%*> [8, +. 277]: 

( ) ( )
2 2,

, ,1 / / /v v v v& 'ζ = + ϕ
* +

,  (18) 

E,& ϕ  – 2-3HH*F*&%/, 7$.*+8@*< -/ +20BE)&%*8 20-5-2 5&+/$ ,&)&%*8 4-/--

2$; 40* '-)6=-5 0$,*B+& +20BE)&%*8 0,3;ϕ = 40* %B)&.-5 0$,*B+& +20BE)&-

%*8 1,5,ϕ = ,)8 %$=&< 9:
2 4

1,5
2

b b ac

a

− ± −
ϕ = ; v  – +2-0-+/6 ?*,2-+/* ,-

,&)&%*8 4-/-2$, 5/+; ,v – +2-0-+/6 ?*,2-+/* . -,%-5 *7 2$%$)-. 4-+)& ,&)&-

%*8 4-/-2$, 5/+.
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N/-'( %$</* -/%-=&%*& , / ,v v 7$4*=&5 -1&.*,%-& 0$.&%+/.-:

4 4 5 5 9 9v S v S v S= + . D-%8/%-, 1/- 5 9v v= . D-+2-)62B 4 +/S S= , 5 9 2S S S= = , /-

5 4 +/ 2/ / 2 1,128278v v S S= = . D-,+/$.*. 3/B .&)*1*%B . B0$.%&%*& (18), 4-)B-

1$&5: ,(1 1) ,(1 1)

4 5(5) 4 9(9) 2,285540 2,286+ +
− −ζ = ζ = ≈ . +/ +/ 5 5 15 4 18 42 2 2v S v S v S v S= = = . L-E,$

+/ 15 4 +/2 /v v S S= , 5 15 4 2/v v S S= . Q+4-)67-.$. 3/* +--/%-=&%*8 . .(0$?&%**

(16), 4-)B1$&5 +)&,B>@B> H-05B)B ,)8 2-3HH*F*&%/$ +-40-/*.)&%*8 2-5-

'*%*0-.$%%-< 9: 40* 0$'-/& ,.BA 4*/$/&)&< (III * VI): 

2 2

(1 1) ,(1 1)+/ 04 4 4
1 15(15) +/ 4 5(5) 4

+/ +/ 2 2 4

22! l l lS S l

d S d S d

+ +
− −

 ! !  ! !+
ζ = ζ + λ + ζ + λ + ζ + λ" #" # " #" #

$ %$ %$ %$ %
.   

2(1 1)

1 15(15)

+
−µ , 15v , 15Q 4-,+1*/(.$&5 4- (6), (7) * (3), $ 0$+A-, . +*+/&5& 152Q Q= .

#&7B)6/$/( 0$+1&/-. 40&,+/$.)&%( . /$'). 2. 

D0* 0$'-/& 4*/$/&)&< II, III, V * VI  C ,)8 +&1&%*< 1–1 * 15–15, 1–1 * 18–

18 'B,B/ 2$2 (16) * (17). ; +)B1$& ,&)&%*8 4-/-2$ 4-4-)$5 -/%-=&%*&

5 4 +/ 2/ / 2 1,128278v v S S= = %& 7$.*+*/ -/ 2-)*1&+/.$ +*55&/0*1%- 0$+4-)-?&%-

%(A -/%-+*/&)6%- +/-82$ 4*/$/&)&< (/-)62- E&-5&/0*1&+2*& 0$75&0(), +)&,-.$-

/&)6%-, ,(1 1) ,(2 2) ,(3 3)

4 5(5) 4 5(5) 4 5(5) 2,286+ + +
− − −ζ = ζ = ζ = . #$+A-, . +*+/&5& +/ +/ 5 52Q v S v S= = =

(2)

15 40(15)2v S= , $ (2)

5 5 15 40(15)v S v S= . D-,+/$.*. 3/* +--/%-=&%*8 . .(0$?&%*& (16), 

4-)B1$&5 +)&,B>@B> 7$.*+*5-+/6 ,)8 2-3HH*F*&%/$ +-40-/*.)&%*8 2-5'*%*-

0-.$%%-< 9: 40* 0$'-/& 1&/(0&A 4*/$/&)&< (II, III, V, VI): 

2 2
(2) (2)

40(15) 40(15)2(2 2) ,(2 2)+/ 0
1 15(15) +/ 4 5(5)

+/ +/ 2 2

2

4 4
7 4

2 2 4

2

.

S Sl l l

d S d S

S ll

d S d

+ +
− −

 !  ! !  !+
ζ = ζ + λ + ζ + λ +" # " #" # " #" # " #$ %$ %$ % $ %

 ! !
+ ζ + λ + ζ + λ" #" #
$ %$ %

2(2 2)

1 15(15)

+
−µ , 15v , 15Q 4-,+1*/(.$&5 4- (6), (7) * (3), $ 0$+A-, . +*+/&5& (2)

15 40(15)2Q v S= .

M%$)-E*1%- ,)8 .+&A 6 0$'-/$>@*A 4*/$/&)&< *5&&5:

2
(3) (3)

40(15) 40(15)2(3 3) ,(3 3)+/ 0
1 15(15) +/ 4 5(5)

+/ +/ 2 2

2 2(2)

40(15) 4 4
6 7 4

2 2 2 2 4

2

.

S Sl l

d S d S

S S ll l

d S d S d

+ +
− −

 !  ! !  !
ζ = ζ + λ + ζ + λ +" # " #" # " #" # " #$ %$ %$ % $ %

 ! !  ! !
+ ζ + λ + ζ + λ + ζ + λ" #" # " #" #" #$ % $ %$ %$ %

2(3 3)

1 15(15)

+
−µ , 15v , 15Q 4-,+1*/(.$&5 4- (6), (7) * (3), $ 0$+A-, . +*+/&5& (3)

15 40(15)2Q v S= .
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N/-'( %$</* 0$+A-, . 2-5'*%*0-.$%%-< 9: 40* 0$'-/& 4*/$/&)&< II, III 

* VI, 7$4*=&5  C ,)8 +&1&%*< 4–4 * 15–15:

2 2 22
,(2 1) 0 5 7 154 4 4
4 5(5) 7 4

2 2 4

1
2 2 2 2

l l v v vp v ll

g d g d g d g

+
−

 !  !  !+
+ α = ζ + λ α + ζ + λ α + ζ + λ + α" # " # " #

γ $ % $ % $ %
, (19) 

* ,)8 4–4 * 18–18:

2 22
,(2 1) 0 9 184 4 4
4 9(9) 4

2 4

2
1

2 2 2

l l v vp v l

g d g d g

+
−

 !  !+
+ α = ζ + λ α + ζ + λ + α" # " #

γ $ % $ %
.  (20) 

D-%8/%-, 1/- ,(2 1) ,(2 1)

4 5(5) 4 9(9)

+ +
− −ζ ≠ ζ . Q7 0$+1&/$ L--'0$7%-< 9: *7.&+/%-, 1/-

(2)

5 6 15 40(15) 2/v v v S S= = . M 7 15 4 2/v v S S= , 9 10 11 18 4 2/v v v v S S= = = . 9&.(& 1$+/*

.(0$?&%*< (19) * (20) 0$.%(, 40*0$.%*.$&5 *A 40$.(& 1$+/*, 4-,+/$.)8&5

7%$1&%*8 5v , 7v * 9v * 4-+)& 08,$ 40&-'0$7-.$%*< 4-)B1$&5:

2 2(2)

40(15),(2 1) 0 4 4
4 5(5) 7 4

2 2 2 2 4

18 15 2

,(2 1) 0 4 4
4 9(9) 4

2 2 4

1

2
1

Sl l S ll

d S d S d
v v

l l S l

d S d

+
−

+
−

 ! !  ! !+
ζ + λ + ζ + λ + ζ + λ +" #" # " #" #" #$ % $ %$ %$ %=

 ! !+
ζ + λ + ζ + λ +" #" #

$ %$ %

. D-,+/$-

.*. *7.&+/%(& .&)*1*%(, *5&&5:

,(2 1)

4 5(5)

18 15 ,(2 1)

4 9(9)

0,383045 1,743022

0,100697 1,579295
v v

+
−

+
−

ζ +
=

ζ +
.  (21) 

O,&+6 %&*7.&+/%( .&)*1*%( 2-3HH*F*&%/-. ,(2 1)

4 5(5)

+
−ζ * ,(2 1)

4 9(9)

+
−ζ . JB?%- 7$-

,$/6+8 -/%-=&%*&5 18 15/v v . R-?%- .78/6 )>'-& 1*+)-, %- 1/-'( %& ,&)$/6

)*=%*A 0$+1&/-., +,&)$&5 /$2. D-%8/%-, 1/- 18v > 15v : %$ 4B/* -/ +/-82$ ,- +&-

1&%*8 18–18 4-/&06 %$4-0$ 5&%6=&, 1&5 -/ +/-82$ ,- +&1&%*8 15–15. D0&,4--

)-?*5, 1/- 18 151,1v v= . L-E,$ 0$+A-, . +*+/&5&

(2)

15 40(15) 18 4 15 4 15 4 15 41,950368 1,1 3,050368Q v S v S v S v S v S= + = ⋅ + = . ; 3/-5 +)B1$&

-/%-=&%*8 5 5 15 4

4 4 15 4

1,950368

3,050368

v S v S

v S v S
= , 9 9 15 4

4 4 15 4

1,1

3,050368

v S v S

v S v S
= . Q 5 4/ 1,4428137,v v =

9 4/ 0,8137413.v v = D- 3/*5 .&)*1*%$5 5 4/v v * 9 4/v v -40&,&)8&5 4- +--/%--

=&%*> (18), 1/- ,(2 1)

4 5(5) 1,9803739+
−ζ = * ,(2 1)

4 9(9) 3,0101751+
−ζ = . D-,+/$.)8&5 *A

. 7$.*+*5-+/6 (21) * 4-)B1$&5: 18 151,1527929v v= . M 5( 7$,$.$)*+6 18 151,1v v= .

!&)$&5 +)&,B>@&& 40*')*?&%*&: 18 151,1527929v v= * 4-./-08&5 0$+1&/. D-+)&
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08,$ 40*')*?&%*< 40* 7$,$%%-5 18 151,157318v v= 4-)B1$&5 4- 0$+1&-

/B 18 151,1573179v v= . J$ 3/-5 0$+1&/ 18 15/v v 5-?%- 7$2-%1*/6, /$2 2$2 0$7%*F$

5&?,B 7$,$%%(5 * 0$++1*/$%%(5 7%$1&%*85* 3/-E- -/%-=&%*8 .+&E-

0,0000001. #$+A-, . +*+/&5& 15 43,107685Q v S= , 40*.&,&%%$8 4)-@$,6 4*/$/&-

)&< 2(2 1)

40(17) 43,107685S S+ = . L-E,$ 2-3HH*F*&%/ +-40-/*.)&%*8 9: -/ +&1&%*8 1–1

,- +&1&%*8 15–15, 40*.&,&%%(< 2 +2-0-+/* 5&/$))$ . +&1&%** 15–15 (B1*/(.$-

&/, 0$7B5&&/+8, 0$'-/B /0&A 4*/$/&)&<),

2 2
2(2 1) (2)

40(15) 40(15)2(2 1) ,(2 1)+/ 0
1 15(15) +/ 4 5(5)

+/ +/ 2 2

2

4 4
7 4

2 2 4

.

S Sl l l

d S d S

S ll

d S d

+

+ +
− −

 !  ! !  !+
ζ = ζ + λ + ζ + λ +" # " #" # " #" # " #

$ %$ %$ % $ %

 ! !
+ ζ + λ + ζ + λ" #" #
$ %$ %

N/-'( %$</* 0$+A-, . 2-5'*%*0-.$%%-< 9: 40* 0$'-/& 4*/$/&)&< I, II, 

III, V * VI, 7$4*=&5  C ,)8 +&1&%*< 4–4 * 15–15, 4–4 * 18–18 $%$)-E*1%- (19) 

* (20) * 4-+)& 08,$ 40&-'0$7-.$%*< 4-)B1*5:

2 2 2(3) (2)

40(15) 40(15),(3 2) 0 4 4
4 5(5) 6 7 4

2 2 2 2 2 2 4

18 15 2 2(2)

40(18),(3 2) 0 4
4 9(9) 11

2 2 2 2

1
S Sl S ll l

d S d S d S d
v v

Sl l Sl

d S d S

+
−

+
−

 !  ! !  !  ! !
ζ + λ + ζ +λ + ζ + λ + ζ + λ +" # " #" # " # " #" #" # " #$ % $ % $ %$ %$ % $ %=

 ! !  ! !+
ζ + λ + ζ + λ + ζ" #" # " #" #" #$ % $ %$ %$ %

4
4

4

.

1
l

d
+ λ +

D-,+/$.*. *7.&+/%(& .&)*1*%(, *5&&5:

,(2 1)

4 5(5)

18 15 ,(2 1)

4 9(9)

0,778298 1,80997

0,383045 1,743022
v v

+
−

+
−

ζ +
=

ζ +
.

K48/6 7$,$.$8+6 -/%-=&%*&5 18 15/v v , 4-+)& 08,$ 4-+)&,-.$/&)6%(A 40*-

')*?&%*< * 40&-'0$7-.$%*< 4-)B1$&5: 18 151,143119v v= , 2(3 2)

40(15) 45,009631S S+ = ,

2 2
2(3 2) (3)

40(15) 40(15)2(3 2) ,(3 2)+/ 0
1 15(15) +/ 4 5(5)

+/ +/ 2

2 2(2)

40(15) 4 4
6 7 4

2 2 2 2 4

.

!

S Sl l

d S d S

S S ll l

d S d S d

+

+ +
− −

 !  ! !  !
ζ = ζ + λ + ζ + λ +" # " #" # " #" # " #$ %$ %$ % $ %

 ! !  ! !
+ ζ + λ + ζ + λ + ζ + λ" #" # " #" #" #$ % $ %$ %$ %

N/-'( %$</* 0$+A-, . 2-5'*%*0-.$%%-< 9: 40* 0$'-/& 4*/$/&)&< I, II, 

III * VI, 7$4*=&5  C ,)8 +&1&%*< 4–4 * 15–15, 4–4 * 18–18 $%$)-E*1%- (19) 

* (20) * 4-+)& 08,$ 40&-'0$7-.$%*< 4-)B1*5:
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2 2 2(3) (2)

40(15) 40(15),(3 1) 0 4 4
4 5(5) 6 7 4

2 2 2 4

18 15 2

,(3 1) 0 4 4
4 9(9) 4

2 2 4

1

.
2

1

! ! !

S Sl S ll l

d S d S d S d
v v

l l S l

d S d

+
−

+
−

 !  ! !  !  ! !
ζ + λ + ζ +λ + ζ + λ + ζ + λ +" # " #" # " # " #" #" # " #$ % $ % $ %$ %$ % $ %=

 ! !+
ζ + λ + ζ + λ +" #" #

$ %$ %

D-,+/$.*. *7.&+/%(& .&)*1*%(, *5&&5:

,(3 1)

4 5(5)

18 15 ,(3 1)

4 9(9)

0,778298 1,860997

0,100697 1,579295
v v

+
−

+
−

ζ +
=

ζ +
. (22) 

M 2-3HH*F*&%/ +-40-/*.)&%*8

2 2
2(3 1) (3)

40(15) 40(15)2(3 1) ,(3 1)+/ 0
1 15(15) +/ 4 5(5)

+/ +/ 2

2 2(2)

40(15) 4 4
6 7 4

2 2 2 2 4

.

!

S Sl l

d S d S

S S ll l

d S d S d

+

+ +
− −

 !  ! !  !
ζ = ζ + λ + ζ + λ +" # " #" # " #" # " #$ %$ %$ % $ %

 ! !  ! !
+ ζ + λ + ζ + λ + ζ + λ" #" # " #" #" #$ % $ %$ %$ %

K,%$2- 0$+1&/( 4- (22) ,$>/ +)&,B>@*& 0&7B)6/$/(: 40* 7$,$%%(A

18 15/ 0,75,v v = 1,00 * 1,25 4-)B1$&5 4- 0$+1&/B 3/- -/%-=&%*& 0$.%(5 +--/-

.&/+/.&%%- 1,2289, 1,2825 * 1,3154 40* 32+4&0*5&%/$)6%-< .&)*1*%& . 1,1963. 

"$2 .*,%-, 0&72-& *75&%&%*& -/%-=&%*8 + 0,75 ,- 1,25 (. 1,67 0$7$) B.&)*1*)-

&E- 0$+1&/%B> .&)*1*%B /-)62- . 1,07 0$7$. L$2*5 -'0$7-5, +*+/&5$ 0$+1&/$

4-1/* %& 0&$E*0B&/ %$ *75&%&%*& .&)*1*%( 18 15/v v . Q 0$+1&/ 0$+A-,$ ?*,2--

+/* . +*+/&5& %&.-75-?&%. I/- %$1$)-+6 +- +)B1$8, 2-E,$ 4-/-2 4-+)& ,&)&-

%*8 . +/-82& . )&.-< 1$+/* (0*+. 3) '-)6=& 4-/-2$ . 40$.-< 1$+/* . /0* 0$7$.

#$%&& 5( B?& +/-)2%B)*+6 + 4-,-'%(5, 2-E,$ *7B1$)* *+/&1&%*& .-,( *7

/0-<%*2-.. C()- B+/$%-.)&%-, 1/- 2-E,$ +2-0-+/* /&1&%*8 -/)*1$>/+8 . /0*

* '-)&& 0$7, B,$0 . 5&+/& ,&)&%*8 4-/-2$ . /0-<%*2& 0&72- +58E1$&/+8 (%&4--

%8/%- 4-1&5B), $ 2-3HH*F*&%/ 0,3ϕ = , $ %& 1,5. 

D0*%8. 0,3ϕ = * 7$,$.$8+6 -/%-=&%*&5 18 15/v v , 4-+)& 08,$ 4-+)&,-.$-

/&)6%(A 40*')*?&%*< * 40&-'0$7-.$%*< 4-)B1$&5: 18 151,143119v v= ,

2(3 1)

40(15) 43,920884S S+ = . :2-0-+/6 17v 4-)B1$&/+8 7$.(=&%%-< %$ 10 %, $ 0$+A-, – 

%$ 8,3 % 4- +0$.%&%*> + 32+4&0*5&%/$)6%(5* .&)*1*%$5*. S-/8 /$2*& 9: %$

40$2/*2& %& .+/0&1$>/+8, .-40-+ /0&'B&/ ,$)6%&<=&E- *7B1&%*8 + /-12* 70&%*8

4-%*5$%*8 40-/&2$%*8 40-F&++-. . 9:, $ /$2?& 40-.&02* /&-0** 0$+1&/$ 9:.

#$+1&/%(& * 32+4&0*5&%/$)6%(& (. 7%$5&%$/&)&) ,$%%(& +.&,&%(

. /$'). 2. "$2 .*,%-, + B.&)*1&%*&5 2-)*1&+/.$ 4*/$/&)&< (* +B55$0%-< *A

4)-@$,*) . 6 0$7 0$+A-, . +*+/&5& +/$) '-)6=& /-)62- . 3,57 0$7$. I/- -'P8+-

%8&/+8 0-+/-5 E*,0$.)*1&+2-E- +-40-/*.)&%*8 +*+/&5( – 1 17(17)−ζ B.&)*1*)+8
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. 4,35 0$7$. M +2-0-+/6 ?*,2-+/* 17v . 4*/$/&)& VI B5&%6=*)$+6 + 1,987 ,-

1,310 5/+, . 1,52 0$7$, 40* B.&)*1&%** 2-)*1&+/.$ -,%-.0&5&%%- 0$'-/$>@*A

4*/$/&)&< + 1 ,- 6. L&-0&/*1&+2*& 7%$1&%*8 +2-0-+/* 17v -/)*1$>/+8 -/ 32+-

4&0*5&%/$)6%(A %$ (–3,70)…(+5,00) %. K/)*1*& -4(/%(A .&)*1*% 0$+A-,-.

-/ 0$+1&/%(A *75&%8&/+8 -/ (–0,46) ,- (+3,64) %. D0*.&,&%%$8 4)-@$,6 4*/$-

/&)&< 40* 0$'-/& 6 4*/$/&)&< 40(6) 45,560S S= .

:0$.%*.$8 /$'). 1 * 2, 5( .*,*5, 1/- A$0$2/&0*+/*2* L--'0$7%-< * 2-5'*-

%*0-.$%%-< 9: +*)6%- -/)*1$>/+8, A-/8 -%* *5&>/ -,*%$2-.(& 0$75&0( (40*

0$7%(A +A&5$A +'-02*). I/- -'P8+%8&/+8 /&5, 1/- 2-))&2/-0 . 2-5'*%*0-.$%%-<

9: 4- +0$.%&%*> + L--'0$7%-< 0$7,&)&% %$ ,.& 1$+/*, +2-0-+/6 . 2$?,-< 1$+/*

B4$)$ . ,.$ 0$7$, $ 4-/&0* %$4-0$ – . 1&/(0& 0$7$, 1/- 40*.&)- 2 0-+/B +2-0-+/*

. 2$?,-< 1$+/* 2-))&2/-0$ 4- +0$.%&%*> + L--'0$7%-<. M 40*.&,&%%$8 4)-@$,6

4*/$/&)&< B.&)*1*)$+6 + 44,633S ,- 45,560 ,S 40*')*7*.=*+6 2 5$2+*5B5B – 

46S  – +B55$0%-< 4)-@$,* +&1&%*< 4*/$/&)&<, 2-E,$ +2-0-+/* *+/&1&%*8 ?*,2--

+/* *7 .+&A 4*/$/&)&< -,*%$2-.(&.

L$')*F$ 2 

 !"#$%&'$ ( )*"+$,(-$&%!./&'$ 0!,!*%$,("%(*(

*1-2(&(,15!&&14 .(%&(*1514 "("%$-'

#$'-/$>@*&

4*/$/&)*
1 15(15)−ζ

1 15(15)−µ 40(15)S 17v ,

5/+

610 ,Q ⋅

53/+

III 0,628 0,784 
4S 1,987

1,980

127,23

126,80

II, III 0,928 0,720 
41,950S 1,825

1,789

227,97

222,29

I–III 1,236 0,669 
42,780S 1,695

1,614

301,70

291,09

III, VI 0,844 0,736 
42S 1,866

1,871

239,03

240,11

II, III, V, VI 1,690 0,610 
43,901S 1,468

1,524

385,95

381,25

I–VI 2,733 0,518 
45,560S 1,312

1,257

467,03

452,37

I–III, VI (T = 0,3) 1,530 0,629 
43,921S 1,593

1,447

400,01

369,48

I–III, V, VI 2,740 0,517 
45,010S 1,310

1,319

420,39

418,48
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Q7-7$ 5$)(A -/)*1*< /&-0&/*1&+2*A * 32+4&0*5&%/$)6%(A 0&7B)6/$/-.

.-7%*2$&/ 5(+)6 - 4-0-1%-5 20BE&, 2-E,$ . 0$+1&/$A *+4-)67B>/+8 ,$%%(&, 4--

)B1&%%(& . +.-*A ?& -4(/$A. !&<+/.*/&)6%-, 2-3HH*F*&%/ +-40-/*.)&%*8 %$

4-.-0-/ *7 2-))&2/-0$ . 4*/$/&)6 * *75&%&%*& 4)-@$,&< +&1&%*< 4-/-2$ ,-

* 4-+)& 4-.-0-/$ 4ζ %$A-,*)+8 ,)8 3/-< ?& )*/%*2-.-< +*+/&5(, 2$2 * 2-3HH*-

F*&%/ 2 .ζ K,%$2- 4-0-1%-E- 20BE$ %&/. ;--4&0.(A, . 32+4&0*5&%/$A 4- -40&,&-

)&%*> 3/*A 2-3HH*F*&%/-. " #  $%&'( '&)*!& &+,&-& "#'$'(). (%& '()- ,&)&-

%*8 4-/-2$) *+4-)67-.$)$+6 %& %-.$8, $ *7.&+/%$8 7$.*+*5-+/6 – B0$.%&%*& C&0-

%B))*. ;--./-0(A, ,)8 -40&,&)&%*8 B2$7$%%(A 2-3HH*F*&%/-. 40-.-,*)*+6 %&-

7$.*+*5(& -4(/( [9]. Q E)$.%-&, 2-3HH*F*&%/( +-40-/*.)&%*< . E*,0$.)*2&

0$+1&/B %& 4-,,$>/+8, $ -40&,&)8>/+8 32+4&0*5&%/$)6%-. L-)62- +-40-/*.)&%*&

0&72-E- 0$+=*0&%*8 4-/-2$, $ /$2?& – + %&2-/-0(5* ,-4B@&%*85* – +-40-/*.-

)&%*& 0&72-E- +B?&%*8 * +-40-/*.)&%*& 4-.-0-/$ %$ 90° '&7 *75&%&%*8 4)-@$-

,&< +&1&%*< ,- * 4-+)& 4-.-0-/$ 4-,+1*/(.$>/+8 /&-0&/*1&+2*. M %$=* E)$.%(&

+-40-/*.)&%*8 – 4-.-0-/ *7 +/-82$ . 2-))&2/-0 * 4-.-0-/ *7 2-))&2/-0$ . 4*/$-

/&)6 + *75&%&%*&5 4)-@$,&< +&1&%*< ,- * 4-+)& 4-.-0-/$ – -40&,&)8>/+8 /-)6-

2- -4(/%(5 4B/&5, 2$2 * 2-3HH*F*&%/ 4-/&06 %$ /0&%*& .λ "-3HH*F*&%/ +--

40-/*.)&%*8 .A-,$ *7 1$=* . +/-82 . 7$.*+*5-+/* -/ 0$,*B+$ +20BE)&%*8 .A-,-

%-< 20-52* +/-82$ 40*.&,&% . +40$.-1%*2& [8] – 3/- ,$%%(& 32+4&0*5&%/-.. "--

3HH*F*&%/( +-40-/*.)&%*< %$ 40-A-, * %$ -/.&/.)&%*& 1$+/* 4-/-2$, -40&,&-

)8&5(& 4- B0$.%&%*85 (11) * (12), /-?& 4-)B1&%( 4B/&5 -'0$'-/2* 0&7B)6/$/-.

-4(/-. [10]. #$7 E*,0$.)*2$ – 0$+1&/%--32+4&0*5&%/$)6%$8 %$B2$, /-, 2$2 '( %*

A-/&)-+6 -'0$/%-E-, 40*A-,*/+8 *+4-)67-.$/6 . /&-0&/*1&+2*A *++)&,-.$%*8A

-4(/%(& ,$%%(&.

"$2 .*,%- *7 /$'). 1 * 2, 0$+A-?,&%*& 5&?,B 0$+1&/%(5* * -4(/%(5*

7%$1&%*85* 0$+A-,-. +-+/$.)8&/ .+&E- -/ (–1,40) ,- (+3,64) %, 7$ *+2)>1&%*&5

+)B1$8 0$'-/( 4*/$/&)&< 4- +A&5& 3+1, 2-/-0(< %$ 40$2/*2& %& .+/0&1$&/+8, %-

*%/&0&+&% ,)8 /&-0** * /0&'B&/ *7B1&%*8. D-%8/%-, 1/- 40* /$2*A -/)*1*8A .-7-

%*2$>/ +-5%&%*8 . 0&7B)6/$/$A 0$'-/(. D-8.)8&/+8 5(+)6: 5&/-,*2$ 0$+1&/$

4-,A-,*/ /-)62- «,)8 ,$%%-E- +)B1$8» (ad hoc, 2$2 40*%8/- E-.-0*/6). N/-'(

-/.&+/* 3/- +&06&7%B> 40&/&%7*>, '()* 40-.&,&%( +)&,B>@*& 32+4&0*5&%/(.

D0* ,*$5&/0& 4*/$/&)8 4 9,03d = 55 ,*$5&/0( 2-))&2/-0$ * +/-82$ '()* /$2*-

5*: 9,03, 12,03, 13,03, 14,03, 15,03, 16,03, 18,03, 20,08 * 24,08 55. L$2?& ,)8 2-)-

)&2/-0$ + 2 16,03d = 55 *7B1$)* 4*/$/&)* ,*$5&/0-5 4 2,03...16,03d = 55 (1&-

0&7 1 55). ;&)*1*%B %$4-0$ H *+4-)67-.$)* /$2B>: 0,1800, 0,3600, 0,5000, 

0,7500 * 1,0800 5. M 9:, 20-5& *++)&,-.$%%(A 0$%&& /&-0&/*1&+2* * 32+4&0*-

5&%/$)6%- L--'0$7%-< [1, 2] * 0$7.&/.)&%%-< [3, 4], '()* /$2*& +.-&-'0$7%(&

+*+/&5(, 2$2 2-5'*%*0-.$%%$8, 20&+/-.*%%$8 * 2-)6F&.$8. Q -/2)-%&%*8 -4(/-

%(A .&)*1*% -/ 0$+1&/%(A +-+/$.)8)- 1–7 %. D-3/-5B E-.-0*/6 - 40*5&%*5-+/*
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40&,)$E$&5-< /&-0** 0$+1&/$ /-)62-  «,)8 ,$%%-E- +)B1$8» ( 0,3600H = 5,

+/ 24,08d = 55, 2 16,03d = 55, 4 9,03d = 55, 119l = 55) %& +)&,B&/. S-/8 E0$-

%*F( && *+4-)67-.$%*8 5-EB/ .(8.*/6 /-)62- ,$)6%&<=*& /&-0&/*1&+2*& * 32+-

4&0*5&%/$)6%(& *++)&,-.$%*8.

#$++5-/0*5, 1/- ?& 3/- /$2-& – 40*.&,&%%$8 4)-@$,6 4*/$/&)&<.

D- +--/%-=&%*> (15) (2)

17 40(17)Q v S= , $ ( )(2)

40(17) 41S x S= + . D-)B1$&/+8, 1/- 40*

0$'-/& 4*/$/&)&< V * VI +2-0-+/* *+/&1&%*8 ?*,2-+/* *7 %*A -,*%$2-.(

* 0$.%( 17v , $ 4)-@$,6 4*/$/&)8 V +-+/$.)8&/ x -/ 4)-@$,* 4*/$/&)8 VI: 

16 17 4S xS xS= = , /.&. 4-8.)8>/+8 ,0-'%(&, *)* 1$+/*1%(&, 4*/$/&)*. R$/&5$-

/*1&+2* . 9: .- .+&A 4*/$/&)8A +2-0-+/6 -,%$ * /$ ?&, $ 4)-@$,* *A 4-4&-

0&1%(A +&1&%*< 0$7%(&. S-/8 4-%8/%-, 1/- H*7*1&+2* B 4*/$/&)&< 4)-@$,*

+&1&%*< -,*%$2-.(&, $ +2-0-+/* /&1&%*8 ?*,2-+/* 0$7%(&. C)$E-,$08 3/-5B

40*&5B B,$)-+6 0&=*/6 +*+/&5B B0$.%&%*< *+/&1&%*8 ?*,2-+/* -,%-.0&5&%-

%- *7 %&+2-)62*A 4*/$/&)&<. D0* 0$'-/& .+&A 6 4*/$/&)&< 4)-@$,6 4*/$/&)8

VI 17 4S S= , $ 4*/$/&)8 I 12 40,544S S= . M &+)* ,-'$.*/6 &@& /0* /$2*A ?& 4*-

/$/&)8 5&?,B +/-82-5 * 4*/$/&)&5 I, /- 0$+1&/%$8 4)-@$,6 ')*?%&E- 2 +/-8-

2B 4*/$/&)8 +-+/$.*/ .+&E- 40,384S  (2$2 * . 32+4&0*5&%/&).

K/5&/*5 )>'-4(/%(< H$2/ . 4-)67B 40&,)$E$&5-< /&-0** 0$+1&/$ 9:.

D0* B.&)*1&%** 2-)*1&+/.$ 4*/$/&)&< + 1 ,- 2 (. ,.$ 0$7$) . L--'0$7%-< 9:

0$+A-, . +*+/&5& B.&)*1*)+8 . 1,718 0$7$ 4- 0$+1&/B * . 1,687 0$7$ . 32+4&0*-

5&%/&. M *75&%&%*& 1*+)$ 4*/$/&)&< + 5 ,- 6 40*.&)- 2 0-+/B 0$+A-,$ /-)62-

. 1,083 * 1,089 0$7$ +--/.&/+/.&%%-, /.&. . 5&/-,*2& B1*/(.$&/+8 0-+/ E*,0$.-

)*1&+2-E- +-40-/*.)&%*8 +*+/&5(, 2$2 * . 32+4&0*5&%/&. Q 4*/$/&)* «7%$-

>/» ,0BE - ,0BE&, /$2 2$2 .2)>1&%*& *)* .(2)>1&%*& A-/8 '( -,%-E- 4*/$/&-

)8 40*.-,*/ 2 4&0&+/0-<2& 0$'-/( .+&< E*,0$.)*1&+2-< +*+/&5(, $%$)-E*1%-

-4(/%(5 ,$%%(5 (+5. /$'). 1 * 2). 

R-?%- 4-,+1*/$/6 40 ,S ζ , µ , v * Q ,)8 2$?,-E- 4*/$/&)8, %$40*5&0,

40* ,.BA 0$'-/$>@*A 4*/$/&)8A B 4*/$/&)8 V . L--'0$7%-< 9: /$2*& A$0$2-

/&0*+/*2* (,$%%(& - 4*/$/&)& VI 40*.&,&%( . /$'). 1): (2)

40(16) 42,052S S= ,

(2)

1 16(16) 1,418−ζ = , (2)

1 16(16) 0,643−µ = , 16 1,630v = 5/+, 6

16 104,39 10Q −= ⋅ 53/+.

:)&,B&/ -/5&/*/6 4-0$7*/&)6%-& 8.)&%*& – +/$'*)6%-+/6 -/%-=&%*8

+2-0-+/* . i-5 4*/$/&)& 2 +2-0-+/* ?*,2-+/* . ,$)6%&5 -/ +/-82$ 4*/$/&)& VI 

+ .(A-,%(5 +&1&%*&5 17–17. K/%-=&%*& 16 17/ 0,950v v = 4- 0$+1&/B 40* 0$'--

/& 4*/$/&)&< VI * V, $ . 32+4&0*5&%/$A -%- 0$.%- 0,95 ± 0,01 40* ,&<+/.** *

3/*A ,.BA 4*/$/&)&<, * /0&A 4*/$/&)&< (VI, V * IV), * 1&/(0&A, 48/* * =&+/*

4*/$/&)&<. L- ?& +$5-& +)&,B&/ +2$7$/6 -' -/%-=&%*8A 15 17/v v , 14 17/v v , 13 17/v v
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* 12 17/v v . !$)6%&<=&& B.&)*1&%*& 4*/$/&)&< ,- 12 %& 4-.)*8)- %$ 3/* -/%--

=&%*8. D(/$)*+6 «0$7'*/6» 3/* -/%-=&%*8 B.&)*1&%*&5 %$4-0$ . 6 0$7

(+ 0,1800 ,- 1,0800 5) * ,*$5&/0$ +/-82$ . 34 0$7$, + 9,03 55 ,-  310 55. K,-

%$2- -/%-=&%*8 17/iv v -/ 3/-E- %& *75&%*)*+6. I/- -/0$,%(< H$2/, /$2 2$2

. 40-/*.%-5 +)B1$& 0$+1&/ 9: '() '( %&.-75-?&%.

L$2 - 1&5 ?& *,&/ 0&16? J$40*5&0, . +)B1$& 0$'-/( .+&A =&+/* 4*/$/&-

)&< 7$4*+(.$&5 ,)8 2$?,-E- *7 %*A +.-&  C ,)8 +&1&%*< 1–1 * z–z 40* *+/&-

1&%** . $/5-+H&0B * 4-)B1$&5: 2 2

17 1 17(17)/ 2H v g −= α µ , 2 2

16 1 16(16)/ 2H v g −= α µ , …, 

2 2

12 1 12(12)/ 2 .H v g −= α µ Q)* 5-?%- 7$4*+$/6  C ,)8 +&1&%*8 1–1 * )>'-E- +&1&-

%*8 9:, *)* ,.BA )>'(A +&1&%*<, A-/8 0$+A-,( ?*,2-+/* . 3/*A +&1&%*8A

5-EB/ -/)*1$/6+8 . 0$7( * ,$?& . ,&+8/2* 0$7. D-)B1$&/+8, 5( #/"&)*01(2 34

+). /(5(,#6 /  $0,72#  $/8&+$2# *, 2$2 3/- %* B,*.*/&)6%-, 32+4&0*5&%/(

4-,/.&0?,$>/ ,$%%-&, 2$7$)-+6 '(, $'+B0,%-& ,-4B@&%*&. Q 7$ +1&/ 3/-E-

+/$) .-75-?%(5 0$+1&/ 9: '&7- .+82*A ,-4-)%*/&)6%(A 40*%F*4-.. L-)62-

-1&.*,%-&
1

,
n

i

i

Q Q
=

= , E,& iQ – 0$+A-, ?*,2-+/* . i-5 4*/$/&)&. ; )>'-5 +&1&-

%** E*,0$.)*1&+2-< +*+/&5( ,&<+/.B&/ H . .*,& +B55( +2-0-+/%-E- * 46&-

7-5&/0*1&+2-E- %$4-0-.. K+-'&%%- 3HH&2/%- 3/- .(E)8,*/ . +*+/&5$A 2-)6-

F&.(A, + 2-)6F$5* 0$7%(A E*,0$.)*1&+2*A +-40-/*.)&%*<, + /B4*2-.(5*

B1$+/2$5* 20&+/-.*%%(A * L--'0$7%(A 9:, 0$7'0-+$%%(A %$ '-)6=-< 4)--

@$,* * %$ 7%$1*/&)6%(A 0$++/-8%*8A ,0BE -/ ,0BE$.

L$2*5 -'0$7-5, %$5* 0$70$'-/$%$ /&-0*8 0$+1&/$ +2-0-+/&< * 0$+A-,-.

5&/$))$ . 2-5'*%*0-.$%%-< )*/%*2-.-< +*+/&5& * 4-)B1&%- && 32+4&0*5&%-

/$)6%-& 4-,/.&0?,&%*&.
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